9. Write notes on : 20
(a) MPLS
(b) Routing in WSNs.
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(c) Overlays
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| Before answering the questions, candidates should ensure that they
have been supplied the correct and complete question paper. No
complaint in this regard, will be entertained after examination

Note: Question No. 1 is compulsory. Attempt five
questions in total selecting one from each Section.

1. (@) On which two layers of OSI reference model error
control and flow control is performed. What is the
need for performing these functions twice ?

1 25x8=20

! (b) Differentiate between an active hub and a switch.

‘ (c) Differentiate between IPV4 and IPV6 addressing.

(d) Differentiate between connection oriented and

connectionless services with examples. Name the
protocols at Transport layer which implements
these services.
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2. (a) Describe CSMA/CD protocol.
standard uses this protocol ?

3. (a) Compare TCP/IP model with
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(b) Explain working of domain name system. 6
SECTION-C
6. Write noteson:
(a) Optical switch
(b) Wireless mesh networks.
(c) Mobile IP
7. Explain IEEE.802.11 standard in detail. .20
SECTION-D
8. (a) What is an Ad-Hoc network ? How it is different
from other wireless networks ? 10
(b) What is VOIP ? How this service is useful ? 10
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